MDX(L) series

Slide table cylinder CHELIC PNEUMATIC

MDX(L) series
provide CAD external dimension.

MDX series-- - -- Slide Table Cylinder - - - - - 26 ~ @25 ----- P.13-3.1

Slide type dual-rod cylinder, double force, rods made of medium carbon stee_LpJalsdfhari\t_\

chromium, grinding the surface ; and hard anodized treatment, cylinder body with 0.3mm

—_—
MSR(L)
Slide Table
Cylinder
—
FMR(L)
Slide Table
Cylinder

>—
P.13-3.12 MDX

Slide Table
Cylinder

 —
MDXL

Slide Table
Cylinder

——
MQX
Compact
Slide
Cylinder

hard surface, use imported slide rail, O-ring and packing.




MEMO

CHELIC PNEUMATIC




© Internal structure

MDX|(L) series - SLIDE TABLE CYLINDER

Specification list and Ordering expression

CHELIC PNEUMATIC

© Theoretical force

Bore size | Piston rod raten | Eisten anes Air pressure (kgf/cm?)

O] T 1 2 3 4 5 6 7
6 3 Push 0.5 — 1.0 1.5 2.0 2.5 3.0 3.5
Pull 0.4 — 0.8 1.2 1.6 2.0 2.4 2.8

Push 1.0 1.0 2.0 3.0 4.0 5.0 6.0 7.0

8 5 Pull 0.7 0.7 1.4 2.1 2.8 85 4.2 4.9
12 6 Push 2.2 2.2 4.4 6.6 8.8 1 13.2 15.4
Pull 1.7 1.7 3.4 5.1 6.8 8.5 10.2 11.9

Push 4.0 4.0 8.0 12 16 20 24 28

= . Pull 3.0 3.0 6.0 9.0 12 15 18 21
2 1 Push 6.2 6.2 12.4 18.6 24.8 31 37.2 434
0 0 Pull 4.7 4.7 9.4 141 18.8 23.5 28.2 32.9
25 12 Push 9.8 9.8 19.6 29.4 39.2 49 58.5 68.6
Pull 7.5 7.5 15 22.5 30 37.5 45 52.5

D Note : The above data are for reference only. When come to actual practice, frictional force and the mechanical
efficiency have to be taken into considerations. (About 70%~80%)

© Specification

© Bore size and Stroke

Unit : mm
Item Boresize | ©6 | @8 | @12 | @16 | 920 | @25 ELICINE Srd GIale
ti D | ti
Optlera ion oub elac ing 6 1020~ 30~ 40 - 50
Fluid Air
Pressure range kgflem? (Kpa) 1~8.5(100 ~ 850 ) g 10:20~30~40~50 75
Max. service pressure kgficm? (kpa) 9.5(950) 12 10+20+30+40+50+75+100
Range of service temperature °C 0~60 16 10+20~30+40+~50+ 75100~ 125
Range of speed mmisec 100~ 500 20 |10-202302405075+100 125+ 150
Connection port M3x0.5p] M5x0.8p | RrciB
Sensing device With magnet 25 10+20+30+40+50~75~100~ 125+ 150
© How to order
C wmpx ) ( 12 ) x ( 50 )-(sb| 2 )-(BM]| 2 )
\ \ \ \ \
l Model ‘ l Bore size ‘ l Stroke ‘ l Sensor switch ‘ l Shock absorber ‘
\ \ \ \ \
6 — @6 mm @6 —10~50 mm =
8 - @8 mm @8 —10~75 mm ] &
12 - @12mm @12 — 10 ~ 100 mm
16 — @16 mm @16 — 10~ 125 mm N A
20 — @20mm @20 — 10 ~ 150 mm CS-8G6 SG|2 EV
25 — @25mm @25 — 10 ~ 150 mm None: without sensor BM|2

MDX :

MDXL :
Slide table cylinder

© How to select shock absorber

Bore size | Shock absorber | Max. absorb function
6 — —
8 SAC-0806 0.2 kgf.m
12 SAC-0806 0.2 kgf.m
16 SAC-1008 0.4 kgf.m
20 SAC-1412 1.5 kgf.m
25 SAC-1412 1.5 kgf.m

Expression: Shock absorber is mounted on the side of
body so as to absorb the impact force.
(Please indicate AM code number; M is shock absorber
mounting sets)
M1 : Front shock absorber mounting sets
M2 : Front-back shock absorber mounting sets
M3 : Back shock absorber mounting sets
13-3.1

[SGJ: Sensor code
(CS-8G)

%g
Cs-9D
None: without sensor
[SDJ: Sensor code(CS-9D)
Sensor code(CS-9B)
[2]: Number of sensor
1=1PCS
2 = 2PCS

[A]: Shock absorber
: Adjustable tacking bolt

[M] : Shock absorber
mounting sets

1=1set
’—r 2 =2 sets
SDj2 (option)

[M] Shock absorber mounting set
(middle shock is 2 pcs when stroke is over 75)

MSR(L)
Slide Table
Cylinder

FMR(L)
Slide Table
Cylinder

MDX
Slide Table
Cylinder

MDXL
Slide Table
Cylinder

MQX
Compact
Slide

Cylinder



MDX|(L) series - SLIDE TABLE CYLINDER

Component and Material list

CHELIC PNEUMATIC

e

| L L
e B | @@
TP el . & &
CAINNSANIN
© Component and Material list
No. Item Material No. Item Material
01 Body Aluminum alloy 1 Slide rail Bearing steel
02 Front cover Aluminum alloy 12 Rod fixed Iron
03 End cover Aluminum alloy 13 Roller Bearing steel
04 Piston Copper alloy 14 Rubber lining Rubber
05 Main rod Medium carbon steel 15 O-ring NBR
06 Magnet Rubber 16 Rod packing NBR
07 Magnet cover Copper alloy 17 Piston packing NBR
08 Slide base Aluminum alloy 18 Screw Alloy steel
09 Front plate Aluminum alloy 19 Screw Alloy steel
10 Rail Bearing steel 20 C snap ring Spring steel
© Packing and O-Ring
Unit : mm
Item Piston packing Rod packing Front cover O-ring | End cover O-ring
Bore size Number 2 2 2 2
26 MYA-3 (4 pcs) MYA-3 a5 x 1 a5 x g1
a8 DYP-8 (4 pcs) DYR-5 28 x 1 a8 x 1
212 COP-12 PDU-6 210.5 x @1.5 210.5 x g1.5
216 COP-16 PDU-8 @13.2 x 31.5 213.2 x 31.5
220 COP-20 PDU-10 @19.5 x g1.5 219.5 x @1.5
325 COP-25 PDU-12 B24.5 x 32 324.5 x @2
,O Note : Use MITSUBISHI, SAKAGAMI or the same degree for piston packing and rod packing.
© Weight
Weight (kg)
Bore size Stroke (mm)
(mm)
10 20 30 40 50 75 100 125 150
a6 0.1 0.1 0.1 0.1 0.2 — — — —
28 0.1 0.1 0.2 0.2 0.3 0.4 — — —
212 0.3 0.3 0.3 0.4 0.5 0.7 0.9 — —
216 0.6 0.6 0.6 0.7 0.8 1.1 1.4 1.8 —
220 1 1 1 1.1 1.3 1.7 2.2 2.7 3.2
25 1.7 1.7 1.7 1.9 2.1 2.7 3.4 4.2 4.8

13-3.2



MDX|(L) series - SLIDE TABLE CYLINDER

Design and Installation ( Reference)

CHELIC PNEUMATIC

© The calculation method of the allowed motionless load.

© Vertical moment of force

Fp
_ Mp x 1000
% Fp= (X1+X2)
X1 X2

© Leaning sway moment of force

© Motionless allowable moment of force
*m

Stroke (mm)
10 20 30 40 50 75 | 100 | 125 | 150
26 07 | 10 | 12 | 1.2 | 1.2 — — - —
28 20 | 20 | 28 | 36 | 42 | 42 — - —

Bore size

FY 212 42 | 42 | 42 | 58 | 7.0 | 100 | 10 - —
! 216 11.3 | 113 | 11.3 | 11.3 | 15.9 | 25.0 | 34.1 | 341 | —
OOO 2 O | £y My x 1000 @20 | 194|194 |19.4 194|272 | 35 | 505 | 50.5 | 50.5
o] o O |0 S T Y.avw
e (X1+X2) @25 | 30.6 | 30.6 | 30.6 | 30.6 | 42.8 | 55.1 | 67.3 | 67.3 | 67.3
Note :
© Please do not exceed load limit. It will effect on the precision of
the slide rail if it exceeds the limit.
© Avoid hitting with great force.
© Inertial load must be with in 1/10 or the allowable motionless load.
Mr x 1000 Description :
Fr= X © X1 is the distance from body to point of load.
© X2 is the center distance from body to slide.
© X is the distance from (Fr) point of load to slide rail holder.
© Maximum allowable load weight
‘ Unit : Kg
7 % Bore size | Max. allowable load weight
© ©
|5 31| @O@Og 00 W 26 06
goaof@ M3 T 28 1
9 b= o 9 g 12 2
7
216 4
N
220 6
225 9

© Mounting type

© Top mounting type

(J

Bass mounting © End vertical mounting

13-3.3

MSR(L)
Slide Table
Cylinder

FMR(L)
Slide Table
Cylinder

MDX
Slide Table
Cylinder

MDXL
Slide Table
Cylinder

MQX
Compact
Slide

Cylinder



MDX|(L) series - SLIDE TABLE CYLINDER

Design and Installation ( Reference ) CHELIC PNEUMATIC

O Slide base deflection ( Reference)

© Slide base displacement due to pitch © Slide base displacement due to yaw © Slide base displacement due to roll
moment load moment load moment load.
Slide base displacement when loads Slide base displacement when loads Slide base displacement of section A
are applied to the section marked are applied to the section marked with when loads are applied to the section
with the arrow at the full stroke. the arrow at the full stroke. f with the slide table retracted.
T
|
I ]
|
A Fr Fr
‘ !
X L
L O]
MDX/MDXL @6 MDX/MDXL @6 MDX/MDXL @6 X = 24 mm
40 ! 40 — 40 [—— !
| .
MDX 6x30 i IDX 6x50 MDX 6x40
z 30 mgigﬁg =z 30 ’YIDXG\ iy =z 30 MDX 6x30
| ', MDX 6x40
‘ ‘ ‘ MDX 6x20
T o0 MDX 6x40 T 2o MDX 6x50 T 59 / / |
© © © T
o ‘ o o / MDX 6x10
-1 P MDX 6x50 - / -
10 10 10
4 /

0 0.01 0.02 0.083 0.04 0 0.01 0.02 0.03 0.04 0 0.005 0.01 0.015 0.02
Slide base displacement amount (mm) Slide base displacement amount (mm) Slide base displacement amount (mm)
MDX/MDXL @8 MDX/MDXL @8 MDX/MDXL @8 X = 50 mm

100 ] 100 ‘ ‘ 80

+MDX 8x10 ‘ ‘
r:MDX ixgg MDX 8x20 DX 8

=z 80 [ MDX x40 =z 80 DX 8x10  MDX 8x30 Z 60 / ” MDX 8x50(—]

60 MDX 8x50 60 TDX Xso} MDX 8401
© VA ] / 1/ woxbas T 40 MDX 8x30—}
o ] o (gx
a 40 Y74 a 40 7 | / MBX <20

20 T MDX 8x75 20 20

— [ /
= [

0 0.01 0.02 0.03 0.04 0.05 0 0.01 0.02 0.03 0.04 0.05 0 0.005 0.01 0.015 0.02
Slide base displacement amount (mm) Slide base displacement amount (mm) Slide base displacement amount (mm)
MDX/MDXL @12 MDX/MDXL @12 MDX/MDXL @12 X = 65 mm

= 3 A 100 [ ]I HREN
100 MDX 12x MDX 12x75 - MDX 12x40 120 DX 12x100 L

/ MDX 12x40 80 DX 125 | |

=z 80 / DX 125 4 ‘ = 100 ‘

° // / - 60 / / MDX 12x100 T 80 “DX1\
© 60 © [ MDX 12x40

o ] o o 60 T
i /i = a0 SN AT
40 [—=TMDX 12x100| 40 MDX 12x30

— [ 20 / / |

20 | || / 20

e ] |

0 0.02 0.04 0.06 0.08 0.10 0 0.01 0.02 0.03 0.04 0.05 0 0.01 0.02 0.03 0.04 0.05
Slide base displacement amount (mm) Slide base displacement amount (mm) Slide base displacement amount (mm)

13-3.4



O Slide base deflection ( Reference)

© Slide base displacement due to pitch
moment load

Slide base displacement when loads
are applied to the section marked
with the arrow at the full stroke.

MDX/MDXL @16

© Slide base displacement due to yaw
moment load

Slide base displacement when loads
are applied to the section marked with
the arrow at the full stroke.

=

MDX/MDXL @16

MDX|(L) series - SLIDE TABLE CYLINDER

Design and Installation ( Reference ) CHELIC PNEUMATIC

© Slide base displacement due to roll
moment load.

Slide base displacement of section A
when loads are applied to the section
f with the slide table retracted.

Sl —

MDX/MDXL @16

LA A

0 0.04 0.08 0.12 0.16 0.18
Slide base displacement amount (mm)

0 0.01 0.02 0.03 0.04 0.05
Slide base displacement amount (mm)

X =89 mm
'MDX 1610
250 —— mMDX 16x20 1 1 l 250 1 l
MDX 16x30 | MDX 16x40 MDX 16x30 +—| 300
I [ MPX 16x50 MBX 10 I MDX 16x100
z 200 [/ MDX 16x75 | z 200 ) T) MDXYiceis L z 250
MDX 16x100 /, oo || MDX 16x100
150 / 150 MDX 16x40 200 MDX 16x125
3 I/ 3 7 o ‘
9 100 / ° 100 / o 180 /MD 16‘x75
- / MDX 16x125 - - 100 MDX 16x50
|
50 50 L unxiea
L — [ 50 T VDX 16430
— [ MDX 16x40

0 0.01 0.02 0.03 0.04 0.05
Slide base displacement amount (mm)

MDX/MDXL @20

MDX/MDXL @20

MDX/MDXL @20

Slide base displacement amount (mm)

X =122 mm
MDX 20x10 [ |
400 A 400 MDX 20x30 | MDX 20x40 400
A MDX 20x20 5 MDX 20x50
MDX 20x40 MDX 20x10 )
300 MDX 20x50 300 MDX 20x75 | | 300
z [T ]| o 2047 DX 20100 = // DR ZDE z o ool Il
L L MDXZO:IZS
S 200 / B 200 ; / S S 200 MEX 205150
o A o ! o MDX 20x75 | |
4 a MDX 20x150 a
100 |- MDX 20x125 | | 100 / 100 P MDX20x50 | |
% = M‘DX‘20><1‘50 T Egggggégfﬁ
c—u ‘ ‘ ‘ MDX 20x40
0 0.04 0.08 0.12 0 0.02 0.04 0.06 0 0.01 0.02 0.03 0.04

Slide base displacement amount (mm)

Slide base displacement amount (mm)

MDX/MDXL @25

MDX/MDXL @25

MDX/MDXL @25

X =154 mm
x30 ] o —— I
500 xgi §§x40\ | MDX 25x40 500 [ox 25v30 | [ DX 25x40 400 ‘
e MD‘X 25)(‘50* MDX 252! \ MDX 25x50 —— |
400 = o 25x75 400 b 7 SR MDX 25%150
2 77 MDX 25x;100 4 DA z 300 MDX 3x 100
300 300 - MDX 25x125 T 1
- 1177 | = 1/ i © 200 AN,
© // | ©  MDX 25x150 ] [
0 200 Mpe2es 128 o 200 ] MDX 25x50
- 7%; 1 - / A - M‘DX J5e40
- MDX 25150 100 "
100 100 A MDX 2530
=" \ e
0 0.02 0.04 0.06 0.08 0 0.01 0.02 0.03 0.4 0.05 0.6 0 0.01 0.02 0.03 0.04 0.05
Slide base displacement amount (mm) Slide base displacement amount (mm) Slide base displacement amount (mm)

13-3.5

MSR(L)
Slide Table
Cylinder

FMR(L)
Slide Table
Cylinder

MDX
Slide Table
Cylinder

MDXL
Slide Table
Cylinder

MQX
Compact
Slide

Cylinder



MDX series - SLIDE TABLE CYLINDER

External dimension

©C MDX @6 x [

CHELIC PNEUMATIC

liEiz

@ MDX 6 x —1ST

Max. 18 (Length of stopper bolt)

18.5

55,3

14.5
2 6
245
2-M2.5x0.45Px3dp 5, 2-M3x0.5P
‘ ‘ ‘ Piping hole
“ 51 1/
o) || /@\ ®)
Oy 1)
e ©
LT;% Ly
Max. 18 (Length of stopper bolt) 65 E2 - M3x0.5Px4dp
3
‘ E 125
2-M3x0.5Px6dp
4

=

4-M2.5x0.45P*3dp

T
P - ]
SO i K

238%3dp M
‘ 1 F
NxF M —M3x0.5Px5dp
5 B |
. |
S
‘ c
D
NNxG MM-M4x0.7Px8dp
.65, 105 G _ 1 /5
A ‘
= : [ o] o
s ol ( 88
oo &0 &4 ===
N 4 o S
ml E: | | kr /(Jj
o —(1)- == —
_ R S TNl
I g |
10.5 H Ry leA* SECTION A-A’
23 3dp 22
© Dimension © Option
Unit : mm Stopper bolt
Code
Stroke B|C|D|E |E2|F|N| G|NN|H| M| MM
10 42 415 | 48 22.5 2 20 1 25 1 20 4 2
20 52 51.5 | 58 32.5 2 30 1 35 1 20 4 2
30 62 61.5 | 68 425 2 20 2 20 2 20 6 3 M5x0.8p
40 84 |835| 9 |525| 2 | 28| 2 |30 | 2 [ 30 | 6 3
50 100 | 99.5 | 106 | 62.5 2 38 2 24 3 48 6 4

13-3.6



MDX series - SLIDE TABLE CYLINDER

External dimension CHELIC PNEUMATIC
©C MDX @8 x [ ] m
(©) mpx 8x—sT
15
2-M3x0.5Px4dp 2. 71 2-M P
4.75 — 5x0.8 8.5 6 _Max 27.1 (Length of shock absorber)
< Piping hole Max 19 (Length of stopper bolt)
— T
) R J 3 '\J
© " L4
AL b ~
| B @i ) |
[ 1S T e —
7
Max 20.5 (Length of shock absorber) 3.8 E2-M3x0.5Px4dp
Max 9.5(Length of stopper bolt) E 14.6
235 _ 6.5 3.5
2-M4x0.7Px6dp
A 4-M3x0.5Px4dp
| G .
i i
; Fop——=o— 1 qe e
I ! o ! - ‘
M ]
| 3 & < i
+0.0: x
@3 x3d 8 K
) s, al
12 12 F S
24 NxF M-M3x0.5Px5dp
[t} 6 B
o
N
N
C
D
NNxG MSR(L)
7.5 1.5 G MM-M4x0.7Px8dp  |=— A 125_ 6 Slide Table
—\ Cylinder
TRY;
\ T N FMR(L)
o~
D: \ R QR Slide Table
1 Cylinder
Sl P S Sy — ===
I 4 w e @‘¢ MDX
S — e P — Slide Table
‘ ¢\ b T Cylinder
o
! s | H_ | 3 A SECTION A-A’ MDXL
\@3° x3dp £,
. . - © . Slide Table
C Dimension S © Option Cylinder
Unit : mm Shock absorber
Code MQx
Stroke B (o3 D E E2 F N G | NN H M | MM (Szlc_)gnpact
ae
10 49 | 485 | 56 23.5 2 25 1 28 1 20 4 2 Cylinder
20 54 | 535 | 61 33.5 2 25 1 30 1 30 4 2 ’m
30 65 | 645 | 72 435 2 40 1 20 2 20 4 3 Stopper bolt
40 83 | 825 | 90 53.5 2 50 1 28 2 28 4 3
50 101 [100.5| 108 | 63.5 4 38 2 23 3 50 6 4
75 151 [150.5| 158 | 88.5 4 50 2 28 4 56 6 5
M8x1.0p

13-3.7



MDX series - SLIDE TABLE CYLINDER

External dimension CHELIC PNEUMATIC

O MDX @12 x [ @ MDX 12 x 1ST

19 58
2-M4x0.7Px5dp L‘T-g'ﬂ 2-M5x0.8P
475 — a 11 8 Max 26 (Length of shock absorber)
Piping hole Max 19 (Length of stopper bolt)
e g
S o ®
D
‘ DO DN = %
r 7 ZVi ]
D‘ H J: @ _ 45\ ,,,,CF”:”J*
5 8.5 8.5
Max15.5 (Length of shock absorber) E 18.5 \ 5 E2-M4x0.7Px6.5dp
Max4.5 (Length of stopper bolt) ‘ Eq ‘ 18.5
31.5 9.5
2-M5x%0.8Px8dp
A B 5 [ 0 Tt[ffi:j] | 4-M4x0.7Px6dp
| || H B R !
©.¢
2 & o
| | | o
3 Lo —B=td 11 a5 {{Ho%]
1 of 1 | 17 \
I I kel I -
| @ o g ®
0,03
o @fos J_ K %
15.5 16 F 3
32 NxF M- M4x0.7Px5dp
© 8 B
o
o}
©
N
C
D
NNxG
10,15 G MM-M5x0.8Px10dp - A 185 , 8
\ TRH ) o e
j < @
[ ! €D | 88
Heo—o—oo—os—1- E===
I8 - % DT
| {Q********%Eﬁ [
I g
- 15 H B A SECTION A-A’
+0.03 e
@4 x3.5d 2 X
=
Q
© Dimension © Option
Unit : mm Shock absorber
Code
Stroke B (o3 D E E1 E2 F N G | NN H M | MM
10 71 70 80 26.5 — 2 35 1 40 1 40 4 2
20 Al 70 80 36.5 = 2 35 1 40 1 40 4 2 SAC-0806
30 71 70 80 | 465 | — 2 35 1 40 1 40 4 2 Stopper bolt
40 83 82 92 56.5 — 2 50 1 25 2 25 4 3
50 103 | 102 | 112 | 66.5 — 2 35 2 36 2 36 6 3
75 149 | 148 | 158 | 91.5 |1255| 4 65 2 36 3 72 6 4
100 203 | 202 | 212 |116.5|179.5| 4 65 2 38 4 76 10 5 M8x1.0p

13-3.8



MDX series - SLIDE TABLE CYLINDER

External dimension CHELIC PNEUMATIC

©C MDX @16 x [ @ MDX 16 x ST

24 58
2-M5x0.8Px5.5d s |
- 0P 8.5 2-M5x0.8P 1 10 Max 29 (Length of shock absorber)
Piping hole Max 22 (Length of stopper bolt)
e ]
~ & -
((I,' el
1 ! o @an_1 i
[ Ho — O O 4 —
5.5_| [10 10
Max16 (Length of shock absorber) E 21 \ 55 E2-M5x%0.8Px5.5dp
Max5 (Length of stopper bolt) Eq 21
37.5 126

2-M6x1.0Px10dp

6 7 TE[’" i:ZD 4-M5x0.8Px7dp
; | L ) —
.9
) < ©
| | | o
: o — a1 4y el
: . o H | 17 TN
1 hel
5 3 3 &
[ 6}@ @5 x4dp §: M
)
20 21 F Q
20 NxF M-M5x0.8Px5.5dp
© 10 B
=
'e]
©
™
C
D
NNxG
12 19 G MM-M6x1.0Px12dp | A 23 10
MSR(L)
?5 35 Slide Table
\ T o g g Cylinder
i I SMEEE
Hoo—6o—oo—0o—1 ===c=ul EMR(L)
H (A1 1= Slide Table
D: 4[—]&6 ; ”@:é' Cylinder
| §-—-—-—-— =t =
T = MDX
- 19 H 3 A SECTION A-A’ Slide Table
+0.03 o % E—————— Cylinder
\ @5 x4dp g
8
© Dimension MDXL
ol . Slide Table
Unit : mm () 0pt|°n Cylinder
Code
Stroke B|C |D|E |E |E2|F|N|G NN H| M| MM Shock absorber MQX
10 76 | 75 | 87 | 29 — 2 35 1 40 1 40 4 2 csilc;(r;;pact
20 76 | 75 | 87 | 39 | — 2 35 1 40 1 40 4 2 Cylinder
30 76 75 87 49 — 2 35 1 40 1 40 4 2 ’m
40 8 | 8 | 97 | 59 | — 2 50 1 50 1 50 4 2 Stopper bolt
50 101 | 100 | 112 | 69 - 2 35 2 30 2 30 6 3
75 151 | 150 | 162 94 125 4 55 2 35 3 70 6 4
100 199 | 198 | 210 | 119 | 173 | 4 65 2 35 4 70 6 5
125 249 | 248 | 260 | 144 | 223 | 4 70 2 35 6 70 6 7 [M10%1.0p|

13-3.9



MDX series - SLIDE TABLE CYLINDER

External dimension CHELIC PNEUMATIC
© MDX @20 x [ ] m
(©) mpx 20 x = sT
275 (e
(<2l
3 13 - "
2-M6x1.0Px6.5dp aﬁ‘* 2-PT1/8
6.5 Piping hole 10 12 _Max 58 (Length of shock absorber)
Max 36 (Length of stopper bolt)
o —RA T 0
I o C— PANE!
I igy== 55 rr i —
L B A i — —— ﬂ
6.5 12] | 6.5 12
Max44 (Length of shock absorber) E 25 E2- M6x1.0P*6.5dp
Max17 (Length of stopper bolt) ‘ E1 25
46.5 18 6
‘—“ 2-M6x%1.0Px13dp
V2. T 6 I
2 ('/'*\ r{ ¥ ‘1[ . o i j ™ 6-M5x0.8Px8dp
N A B e T -+
Kj{ 8 > o >
© 1 i N L4fb,,, ,,,,, G},i,, ©| ©
© ?—/\ i Ay [ S~
LT 9 Py s o%
- +0.03 8
P& | 2540 xsap R 6\
n
25 27 F S
50 NxF M-M5x0.8P*10dp
[to) 13 B
o
0
i It
< e |
C
D
NNxG
15.5 21.5 G MM-M6x1.0Px12dp A 28 1
/ ) 33
[ | 8 8 &
/ G -
OO0 ©¢Q—0——-1 N
L 6 o L
{———— T —
& '
215 H_ R A SECTION A-A’
@5+ x5dp %
- . 0
© Dimension S
Unit : mm
Code i
Stroke B |C|D|E|E |E|F|N|Fi |G| NN|H| M, MM © Option
Shock absorber
10 83 | 815 | 97 31 — 2 50 1 40 45 1 35 4 2
20 83 | 81.5 97 41 — 2 50 1 40 45 1 35 4 2
30 83 | 81.5 97 51 — 2 50 1 40 45 1 35 4 2
40 93 | 91.5 | 107 61 — 2 60 1 50 55) 1 35 4 2 ’7
SAC-1412
50 108 |1065] 122 | 71 | — | 2 |35 | 2 |35 |3 | 2 | 3|6 |3 Stopper bolt
75 147 |145.5| 161 96 — 2 60 2 60 35 3 70 6 4
100 200 [(198.5| 214 121 168 4 70 2 70 35 4 70 6 5
125 254 1252.5| 268 | 146 | 223 4 80 3 70 38 5 755 8 6
150 306 [304.5]320 | 171 | 275 | 4 | 80 | 3 | 80 | 44 | 6 |875| 8 | 7 [M14x1.5p|




MDX series - SLIDE TABLE CYLINDER

External dimension CHELIC PNEUMATIC
© MDX @25 x [ m
(©) mpx 25 x 1 sT
30 ()
—
4 16 - "
2-M8x1.25Px8.5dp 4’7—]‘* 2-PT 18
8 Piping hole 12 15 _Max 58 (Length of shock absorber)
=4 Max 34 (Length of stopper bolt)
) "N ©
ER o C— PANE!
I igy== 55 rr i —
L | Y YR i T mz
8 15 8 15
Max38 (Length of shock absorber) E 31 E2-M8x1.25Px8.5dp
Max11 (Length of stopper bolt) ‘ E1 31
‘&T 2-M8x1.25Px15dp 22 !
. 7 e erjﬂm 7 o ol e 6-M6x1.0Px10dp
4 O o : i
Kj}/ ) > 5 >
o 1 i N L4fb,,, ,,,,, G},i,, ol o
I I 7
LT 9 Py s o%
- +0.03 8
P& | 264 x6ap R 6\
©o
31 30 F S
62 NXF M- M6x1.0Px13dp
w| __15 B
o
Yol
2 i
9]
D
NNxG
17.5 23.5 G MM-M8x1.25P*16dp 34 15
/ [=—A MSR(L)
—w Slide Table
/ /J\ |- O «~| Cylinder
L / | SERS
= A
o s — M T = FMR(L)
6 \ o = Slide Table
L Q T Cylinder
T ° \/ (-
I S — H&io. ; MDX
23.5 H 8 A SECTION A-A’ Slide Table
+0.03 3 B Cylinder
@6+ x6dp %
C Dimension 8
o MDXL
Unit : mm
Cod . Slide Table
ode i
Stroke B |C|D|E|E |E|F|N|Fi |G| NN H | M| MM © Option Cylinder
Shock absorber
10 92 | 90.5 | 108 | 35 — 2 50 1 40 45 1 45 4 2 MQX
20 92 |90.5 | 108 45 — 2 50 1 40 45 1 45 4 2 gﬁg’:ac‘
30 92 |90.5 | 108 55 — 2 50 1 40 45 1 45 4 2 Cylinder
40 102 [100.5| 118 | 65 = 2 60 1 50 55 1 55 4 2 SAC1412
50 115 |113.5| 131 75 — 2 35 2 35 35 2 35 6 3 Stopper bolt
75 156 |154.5 | 172 | 100 = 2 60 2 60 35 3 70 6 4
100 197 |195.5| 213 | 125 | 162 4 70 2 70 35 4 70 6 5
125 255 |253.5| 271 150 | 218 4 75 & 75 38 5 76 8 6
150 295 |293.5| 311 | 175 | 258 | 4 | 80 | 3 | 80 | 40 | 6 | 80 | 8 7 [M14x1.5p|

13-3.11



© MDXL @6 x [ ]

18

@38%3dp

M — M3x0.5Px5dp

MDXL series - SLIDE TABLE CYLINDER

External dimension

CHELIC PNEUMATIC

@ MDXL 6 x C1ST

i

18

Max 18 (Length of stopper bolt)

32

4-M2.5%0.45P*3dp

55](3

Max 18 (Length of stopper bolt)

MM-M4x0.7P*8dp

O
5 &
o ] ,,
‘ |
2-M2.5%0.45Px3dp 5! | 2-M3x0.5P 10 !5,
- 2|68 Piping hole
14.5
+0.03
@3+ x3dp a
g
10.5 / H ‘3: -~ A
§ To
| L
gw ,g{, Z9EE=
' [}
E[* _lal o
i / -
EE @6 @ ¢
!6.5! 10.5 G le a*
NNxG
© Dimension
Unit : mm
Code
Stroke B (o4 D E E2 F N G | NN H M | MM
10 42 | 415|485 | 225| 2 20 1 25 1 2 | 4 2
20 52 | 515|585 |325| 2 30 1 35 1 2 | 4 2
30 62 | 615|685 | 425| 2 2 | 2 20 | 2 20 | 6 3
40 84 [835| 70 |525| 2 28 | 2 30 | 2 30 | 6 3
50 100 | 99.5 | 106 | 62.5 | 2 38 | 2 24 | 3 48 | 6 4

13-3.12

@3.5 ‘

@5.8

‘115

SECTION A-A’

© Option
Stopper bolt

M5x0.8p




© MDXL @6 x [ ]

18

@38%3dp

M — M3x0.5Px5dp

MDXL series - SLIDE TABLE CYLINDER

External dimension

CHELIC PNEUMATIC

@ MDXL 6 x C1ST

i

18

32

Max 18 (Length of stopper bolt)

4-M2.5%0.45P*3dp

55](3

Max 18 (Length of stopper bolt)

MM-M4x0.7P*8dp

5 &
o ] ,,
‘ |
2-M2.5%0.45Px3dp 5! | 2-M3x0.5P 10 !5,
- 2|68 Piping hole
14.5
+0.03
@3+ x3dp a
g
10.5 / H ‘3: -~ A
§ To
| L
gw ,g{, Z9EE=
' [}
E[* _lal o
i / -
EE @6 @ ¢
!6.5! 10.5 G le a*
NNxG
© Dimension
Unit : mm
Code
Stroke B (o4 D E E2 F N G | NN H M | MM
10 42 | 415| 48 | 225 2 20 1 25 1 2 | 4 2
20 52 |515| 58 |325| 2 30 1 35 1 2 | 4 2
30 62 |615| 68 |425| 2 2 | 2 20 | 2 20 | 6 3
40 84 |835| 90 |525| 2 28 | 2 30 | 2 30 | 6 3
50 100 | 99.5 | 106 | 62.5 | 2 38 | 2 24 | 3 48 | 6 4

13-3.12

@3.5 ‘

@5.8

‘115

SECTION A-A’

© Option
Stopper bolt

M5x0.8p




MDXL series - SLIDE TABLE CYLINDER

External dimension CHELIC PNEUMATIC
© MDXL @8 x| 5 @ MDXL 8 x 1 ST
¢}
) B
24 NxF M-M3x0.5Px5dp
12 12 F
& @ L $/ 5.0
) + % | ;
. Doy — =D ——f 1 g8 {8
1 ot

4-M3x0.5Px4dp

&
i b AL

2-M4x0.7Px6dp

E
Max 20.5 (Length of shock absorber)
Max9.5 (Length of stopper bolt) 7
§ - e
= i ~
“
© By
=) | ~|
I
<
M0 5Pxdcp 478\ 2-usosp 85| |e | Max 27.1 Lengtnof sk sbaorbe
LJ—U Piping hole @ eng stoppel )
15
1003 o
@3° x3dp 3
x
11.5 H g
, ? - A
| | | 8 ! MSR(L)
I Slide Table
‘_N *g’i’i’i{g'% ] Cylinder
In et . rasuN
Heo—6o—oo—0o—1 == EMR()
H ~ Slide Table
D: / + A P Cylinder
I | 8IS
/ MDX
7.5| 1.5 G MM*M4><0-7P><8dp/ , 125 | 6 Slide Table
}‘*A Cylinder
NNxG SECTION A-A’
MDXL
. . . Slide Table
C Dimension © Option Cylinder
Unit : mm Shock absorber
Code MQx
Stroke B (o3 D E E2 F N G NN | H M | MM glt_)g‘\pac(
ide
10 49 | 485 | 56 |235 | 2 25 1 28 1 20 4 2 Cylinder
20 54 | 535 | 61 33.5 2 25 1 30 1 30 4 2 SAC-0806
30 65 | 645 | 72 |435 | 2 40 1 20 1 20 4 3 Stopper bolt
40 83 | 825 | 90 |535 2 50 1 28 2 28 4 3
50 101 |100.5| 108 | 63.5 | 4 38 2 23 3 50 6 4
75 151 |150.5| 158 | 88.5 | 4 50 2 28 4 56 6 5
M8x1.0p

13-3.13



MDXL series - SLIDE TABLE CYLINDER

External dimension CHELIC PNEUMATIC
© MDXL @12 x [ m
‘:) MDXL 12 x ST
D -E‘]@
C
w
©
N
w
S 8 B
32 NxF M-M4x0.7Px5dp
15.5 16 F a
+0.03 °
@4 x3.5dp pe
=% O g / I
| & & *3 &
T Q N
i i
] éé <k
T
s ﬂ }3:, 5 \ [ ™\_M-M4x0.7Px6dp
2-M5x0.8Px8dp 9 (5
E1 18.5
Max 15.5 (Length of shock absorber) E 18.5 5 E2 -M4x0.7Px6.5dp
Max 4.5 (Length of stopper bolt) 5 | 85 ‘ 8.5
B = oo o+
= ©
L(\\
° @\ 24 3
© — | -
[
4.75 11 8 Max 26 (Length of shock absorber)
M4x0.7Px5dp 2-M5x0.8P Max 19 (Length of stopper bolt
2 |95 Piping hole ax 19 (Length of stopper bolt)
19

+0.03
@4 x3.5dp

15 H

+0.03

@4+ x3.5dp

—A

&

\

|

|

\

i

o ||
‘20

ST

\

~_|
[ <
@4.3
28.5

gy
10| 15 G MM—MSXO.SPX1Odp/ — A 18.5 |8
NNxG SECTION A-A’
© Dimension © Option
Unit : mm Shock absorber
Code

Stroke B|C | D|E | E1|E2| F|N|G|NN|H| M| MM

10 71 70 80 26.5 — 2 35 1 40 1 40 4 2

20 Al 70 80 36.5 = 2 35 1 40 1 40 4 2 SAC-0806

30 71 70 80 46.5 — 2 35 1 40 1 40 4 3 Stopper bolt

40 83 82 92 56.5 — 2 50 1 25 2 25 4 3

50 103 | 102 [ 112|665 — | 2 [ 35| 2 [ 3| 2 | 36| 6 | 3

75 149 | 148 | 158 | 915 |1256.5| 4 5 2 36 & 72 6 4

100 203 | 202 | 212 |116.5|179.5| 4 65 2 38 4 76 10 5 M8x1.0p

13-3.14



MDXL series - SLIDE TABLE CYLINDER

External dimension CHELIC PNEUMATIC
© MDXL @16 x [ m
5 @ MDXL 16 x 1 ST
C
0
©
™
2l o B
40 NxF M-M5x0.8Px5.5dp
20 21 F
| o
@57 x4dp ]
X : 5T
4 & & g
,F@ ¥ ) 5¢ E
i i Q i | __ JA /|
2 —-—-dr=P-—-—1 | g2 —oor
@ i i i ©
] —+- 9
| & &) * i A @ W
= T AP
& — — R
? K f F R N N 11 R 7
- T T o 4-M5x0.8Px7dp
375 2-M6x1.0Px10dp 12lg] T
E1 21
Max 16 (Length of shock absorber) E 29 55 E2-M5x0.8Px5.5dp
Max5 (Length of stopper bolt)
T =
L
F )
Y o
I~ N
S C *9\ @ ~
© = | ‘—1
I
8.5 11 10 Max 29 (Length of shock absorber)
M5x0.8Px5.5dp 2-M5x0.8P }
3 11 Piping hole Max 22 (Length of stopper bolt)
24
5% xadp g
X
19 H £ A
w
| 8 MSR(L)
e Aﬁf Slide Table
1 @ ﬁ [ ] Cylinder
I R : '
H N [ RN —
oo &0 06 081 == EMR(L)
H LA Slide Table
D: + T S g b Cylinder
J 8l g| 2
52 Q Q
12| 19 G MM -M6x1.0Px12d 23 |10 MDX
R - x1.0Px p .
A et
SECTION A-A'
. . MDXL
© Dimension . . Slide Table
Unit : mm (> optlon Cylinder
Code
Stroks B|  C|D|E|E|E | F | N|G NN H | M| MMV Shock absorber MQX
10 76 75 87 29 - 2 35 1 40 1 40 4 2 gﬁg;pac‘
20 76 75 87 39 = 2 B5) 1 40 1 40 4 2 Cylinder
30 76 75 87 49 - 2 35 1 40 1 40 4 3 ’m
40 86 85 97 59 = 2 50 1 50 1 50 4 3 Stopper bolt
50 101 | 100 | 112 | 69 — 2 35 2 30 2 30 6 3
75 151 150 | 162 94 125 4 55| 2 35 3 70 6 4
100 199 | 198 | 210 119 | 173 4 65 2 35 4 70 6 5
125 249 | 248 | 260 144 | 223 4 70 2 35 6 70 6 7 M10x1.0p

13-3.15



MDXL series - SLIDE TABLE CYLINDER

External dimension

© MDXL @20 x []

CHELIC PNEUMATIC

@ MDXL 20 x ST

i

D
C
o o L
S i
<
I 13 B
o
50 NxF M-M5x0.8Px10dp
25 27 F
+0.03
‘ @5+ x5dp §
T o2
7\?@ & 4 73 4/ P
I @ F1 0 m o
j \7‘—’1 /i\& L o\ «©
o |1 P ——- g —— &—1 1 ge el
) il g
T @ O ®
N & 4 & L
X L I
@ N i T — N 6-M5x0.8Px8d
2 O 0 R el o) g
=) R gE IS -+ S
46.5 ‘ 2-M6x1.0Px13dp 18 6
E1 25
Max 44 (Length of shock absorber) E 25 E2-M6x1.0Px6.5dp
Max17 (Length of stopper bolt) 6.5 12 | 65 12
H T <
m H o 5B A s T =
[ Y ¥ Y ¥ P i
< ML (,Q ,,,,,,,,,,,,,,,,, ﬁ},,f
© m— 1‘35
8.5 10 12 Max 58 (Length of shock absorber)
2-M6x1.0Px6.5dp 3 13 2-PT 1/8" " Max 36 (Length of stopper bolt)
275 Piping hole
+0.03
@5+ x5dp =1
B3
21.5 H R
8 — A
e — T E
i .o ﬂ O i
oo GG e
L \ q\ ol |
y RAELE
15.5 21.5 G \ MM-M6x1.0Px12dp |=— A’ 28 11
C Dimension NN~G SECTIONA-A"
Unit : mm
Code i
Stroke B |C|D|E |Ei|E|F|N|F |G| NN| H| M, MM © Option
Shock absorber
10 83 | 815 97 31 - 2 50 1 40 45 1 35 4 2
20 83 | 81.5 97 41 = 2 50 1 40 45 1 35 4 2
30 83 | 815 97 51 - 2 50 1 40 45 1 35 4 2
40 93 | 915 | 107 | 61 = 2 60 1 50 | 55 1 35 4 2 SAC1412
50 108 |106.5| 122 71 - 2 35 2 35 35 2 35 6 3 Stopper bolt
75 147 |145.5| 161 96 = 2 60 2 60 85 3 70 6 4
100 200 [198.5| 214 | 121 168 4 70 2 70 35 4 70 6 5
125 254 (252.5| 268 | 146 | 223 4 80 & 70 38 5 5.8 8 6
150 306 [304.5| 320 | 171 275 4 80 3 80 44 6 87.5 8 7 M14x1.5p

13-3.16




External dimension

© MDXL @25 x []

MDXL series - SLIDE TABLE CYLINDER

CHELIC PNEUMATIC

MDXL 25 x[1ST

0 [
Yol
g 15
62 M-M6x1.0Px13dp
31 30 F
+0.03
@6+ x6dp
— @
V}W @ hd E
N ]
=S I
o] ¢
N !
© PV —— = 5 s T 6 — M6x1.0Px10d
2 &y O H ke 2 B :
R N LL,,J """
545 2- M8x1.25Px15dp 29
Max 38 (Length of shock absorber) E E2- M8x1.25Px8.5dp
Max11 (Length of stopper bolt)
— I N O R W 7 - T 9—’#
I H [ —
L = -
T g
m— |
2 M8x1.25Px8.5d e 8 ‘ Max 58 (Length of shock absorber)
- - g0 4 16 2-PT1/8" " Max 34 (Length of stopper bolt)
30 Piping hole
+0.03
@6+ x6dp
23.5 / H
P S—— .
L © ‘
52l \J A _
BB o 0o b1 me==eiT
L \ K‘\ el © ~
T | €58
Lo ) SIS
17.5 ‘ ‘23.5 G \MM—MBX1.25PX16dp 34 15
. . SECTION A-A'
[»] Dimension —_—
Unit : mm
Code i
Stroke B|C|D|E|E |E| F|N NN M | MM © Option
Shock absorber
10 92 | 90.5| 108 | 35 — 2 50 1 1 4 2
20 92 90.5 | 108 45 — 2 50 1 1 4 2
30 92 90.5 | 108 55 - 2 50 1 1 4 2
40 102 | 100.5| 118 | 65 = 2 60 1 1 4 2 SAC-1412
50 115 | 113.5| 131 75 - 2 35 2 2 6 3 Stopper bolt
75 156 | 154.5| 172 | 100 = 2 60 2 8 6 4
100 197 |195.5| 213 | 125 | 162 4 70 2 4 6 5
125 255 | 253.5| 271 150 | 218 4 75 & 5 8 6
150 295 |293.5) 311 | 175 | 258 | 4 | 80 | 3 6 8 7 [M14x1.5p)

MSR(L)
Slide Table
Cylinder

FMR(L)
Slide Table
Cylinder

MDX
Slide Table
Cylinder

MDXL
Slide Table
Cylinder

MQX
Compact
Slide

Cylinder



MDX|(L) series - SLIDE TABLE CYLINDER

Stroke adjustment and Shock absorber installation CHELIC PNEUMATIC

© Stroke adjustment and With shock absorber
—[A] With shock absorber
e MDX/MDXL

External drawing c A B s

-
s o

-

w
O [©] [©] ©]
°cO ©° ©
(©] (©] (©] (©]
Code G
Dimensions A B C D E F
Model 10ST | 20ST | 30ST | 40ST | 50ST | 75ST [100ST|

MDX(L) 28 7 8 208 | 145 | 38 | 235 | 20.1 | 251 | 241 — —
MDX(L)@12 | 9.5 8 155 | 15 45 | 315 5 15 25 23 13 26 =
MDX(L) @16 | 11 10 16 18 55 | 375 8 18 28 28 23 29 29
MDX(L) @20 | 13 12 44 | 245 | 70 | 475 | 38 48 58 58 53 39 59
MDX(L) @25 | 16 15 38 | 245 | 80 | 545 | 36 46 56 56 53 37 58

—[B] With stopper bolt

e MDX/MDXL
External drawing

00| w
°cO o O
o o o o | 100
Code
Dimensions A B C D E F G Stroke adjustment
Model
MDX(L) @6 6 5 11.5 2.5 225 19 21.3 0~18 mm
MDX(L) @8 7 8 20.8 14.5 38 23.5 19 0~15 mm
MDX(L) @12 9.5 8 15.5 15 45 315 19 0~15 mm
MDX(L) @16 11 10 16 18 55 37.5 22 0~20 mm
MDX(L) @20 13 12 44 24.5 70 475 37 0~30 mm
MDX(L) @25 16 15 38 24.5 80 54.5 34 0~30 mm




MDX|(L) series - SLIDE TABLE CYLINDER

Sensor switch installation and Sensing setting CHELIC PNEUMATIC

© Sensor switch installation

© Operating range © Sensor switch setting and operating range
Sensor switch is fixed on the cylinder body. © CS-9D(B)
The magnetic piston head will activate the
LED
Sensor switch when it enters the operating Fixed screw—l ——— Sensor switch
range. It has 0.5mm differential. e
|
|
|
J ‘ﬁ _ &
© Setting range !
Magnet ! Sensing range(G)
When piston head moves the switch setting and @ H d) H @
adjustment will be based on the responding range ) ) (@) Operating range(F)
generated by the magnetic field and the switch. @ Response differential (R)
(Please refer to the below table) Idea sensing location MSR(L)
SIic!eTabIe
Unit : mm Cylinder
Model CS-8G CS-9D(B) EMR(L)
- . . - . . R Slide Tabl
Bore size | Operating range (F) | Response differential(R) | Operating range (F) | Response differential(R) Oylinder
26 4 1 — _
a8 2.5 1 — — MDX
Slide Tabl
212 4.5 1 8 1 Cylindar
216 5.3 1.2 10 1.2
220 6.3 1.2 11 1.2 MDXL
Slide Tabl
@25 5.7 1.5 9 1.5 C)I(Iiﬁdear €
© Connector type 223,2“
White (+) Slide
: Block (-) Cylinder
. White (+)
%’ Block (-)
f*/ cs -9D
Voltage : DC 5~ 120 V Voltage : DC 5 ~ 120 V
AC5~120V AC5~120V

13-3.19



MEMO

CHELIC PNEUMATIC

13-3.20



	1.氣缸類-MDX MDXL-索引頁-右-英文版
	2.氣缸類-MDX MDXL-MEMO-英文版
	3.氣缸類-MDX MDXL-13-3.1-英文版
	4.氣缸類-MDX MDXL-13-3.2-英文版
	5.氣缸類-MDX MDXL-13-3.3-英文版
	6.氣缸類-MDX MDXL-13-3.4-英文版
	7.氣缸類-MDX MDXL-13-3.5-英文版
	8.氣缸類-MDX(6)-13-3.6-英文版
	9.氣缸類-MDX(8)-13-3.7-英文版
	10.氣缸類-MDX(12)-13-3.8-英文版
	11.氣缸類-MDX(16)-13-3.9-英文版
	12.氣缸類-MDX(20)-13-3.10-英文版
	13.氣缸類-MDX(25)-13-3.11-英文版
	14.氣缸類-MDXL(6)-13-3.12-英文版
	14.氣缸類-MDXL(6)-13-3
	15.氣缸類-MDXL(8)-13-3.13-英文版
	16.氣缸類-MDXL(12)-13-3.14-英文版
	17.氣缸類-MDXL(16)-13-3.15-英文版
	18.氣缸類-MDXL(20)-13-3.16-英文版
	19.氣缸類-MDXL(25)-13-3.17-英文版
	20.氣缸類-MDX MDXL-13-3.18-英文版
	21.氣缸類-MDX MDXL-13-3.19-英文版
	22.氣缸類-MDX MDXL-MEMO-13-3.20-英文版

